Organized List:

x-make  &  o-miss

Since she makes it 60% of the time I started with 10 shots and made 6 x’s and 4 o’s.
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I then need to have her make 60% of her second shots, but only need to shoot a second shot if she made the first.  I can’t easily take 60% of six, so I will do 50 shots.  This gives me 30 makes and 20 misses.
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[bookmark: _GoBack]I can also think of 60% as 3 out of 5, so since I have a row of five makes, 3 have another make and 2 have a second shot miss.  I marked the first row in red to show this process.  This continued for all of the rows that had a first shot make.  So here is the list:
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Table:

I decided to start with a 10x10 table, also known as a 100’s chart.  I then shaded sixty boxes blue to represent her makes on the first shot.  I need to get 60% of her initial makes, so I then looked at the 6 rows of ten.  In each row I shaded six boxes in green to represent 60%.  The boxes that are now colored green represent her making two shots and winning the game.  This is a 6x6 square, or 36 boxes.  Therefore she wins the game 36% of the time.

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	











Tree diagram:
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